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FM:JIEBHA MED
M MEXA
Selr XA SELA (Sl & &)
= - — L=
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
JI=3 M HEY 1,060,520 1,292,069 A 231,549
ME X2 1,014,622 1,158,376 A 138,754
[2HAl S8 Al 828,367 822,409 5,958
S AEO Al 189,636 66,030 123,606
201 Let24dy] 79,722 66,030 13,692
01 At 2teltl 25,440 19,680 5,760
OHHEAANM 2= HME 1203 » 20,0005 2,400
QMEINE R
160& = 12,0004 » 128 23,040
02 =224l 54,282 46,350 7,932
OHIRE S USAHIAOISNE) 242
80& = 40,0001 = 123 38,400
OoHIZE=R2d# SMS+==2
173 = 6,500 » 123 1,326
OSEALNEERMNAAE RXE I
300,000& = 12& 3,600
OMRSE 2 AIAE =X 24|
1,710,000& * 43| 6,840
OG-HAAIAE SXE=H  299,000& * 123 3,588
OX&A &5 SAAMEA =2
223 » 2,000& = 128 528
403 XIS E X201 H 93,914 0 93,914
02 S 2SI CHSHTHEH AH B 93,914 0 93,914
OXNYHMEEANAE 2ZHI| 93,914
OHEEXNYHMEEANAE 62,067,0008 13 62,067
OSSXNEMAAEH 16,047,000& * 13/ 16,047
OMMsSEANAE 2,300,000 * 13l 2,300
OW=&d & TUzds 13,500,000& * 13/ 13,500
405 THabH S| 16,000 0 16,000
01 Tt EFH S 16,000 0 16,000
OG-HAAIAE =3 AIAE WX
8,000,000& * 2CH 16,000
SaAYNt LU 60,984 41,838 19,146
201 Let24E] 60,984 41,838 19,146
01 At 22l 50,400 35,540 14,860
OMAAN HALAMA =& 20,0008  2,50004 50,000
OXNEAMN HEAYHNES ol 1,600& = 25004 400
02 2324l 10,584 6,298 4,286
OHAEAMNIA EBFANSEF=INE 0IER=
3,500 = 120H * 21 = 12& 10,584
NEHR Az 13,326 13,797 AN4TA
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= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
201 Lt 9,900 11,371 AT,471
01 At 22l 9,900 11,371 A1,471
OXZN HRE P& 50,000& = 120& 6,000
OXNYAH CHLHA HMZ(1S)
3,000& = 1,300& 3,900
202 04l 2,426 2,426 0
01 = LH o4 1l 2,426 2,426 0
OXNLNILR e s FA0HI
75,800 * 4H * 2 * 43 2,426
203 YR =2t 1,000 0 1,000
03 Al =AY R =& 1,000 0 1,000
OXNEAHZE gRF=2 250,000& =« 43| 1,000
NS FE DA A 492,112 449,555 42,557
101 @124l 240,052 210,355 29,697
04 JIZHHZ2Z2XNESE S 240,052 210,355 29,697
OMEZEE SHEA LAAAOI2
49,1003 = 3409 = 262 = 50% 217,022
OMSIEEZE 23,030
O=H=RE= 217,022,000& * 4.5% 9,766
O3UHLEHE 217,022,000 * 2.995% 6,500
OFIILEE= 6,500,000& = 6.55% 426
CLEBEZRES 217,022,000& * 1.5% 3,256
Ot Mol 2EAEE =
217,022,000& = 1.42% 3,082
201 ¢er24| 246,060 239,200 6,860
01 At 22/l 228,510 217,330 11,180
0OZE++2 6,000& * 62,000& * 50% 186,000
ODIZA ZEFEUINALE 242
60,000& = 455 * 50% 1,350
OMNEF=EItH 2FSXNE MH
100& * 62,000& 6,200
OMBFELIIA HYEZH 5
13,000& * 2,000& =* 23| * 50% 26,000
OMEZetA Aojg A KA
70,000& » 40% 2,800
OMEFH2A2AE EY S 22572
220,000 * 28H 6,160
02 2324l 17,550 21,870 A 4,320
OMEFLIA ZHENL B2
270& * 65,000A 17,550
202 044l 6,000 0 6,000
01 = LH &4 1l 6,000 0 6,000
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= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OMNEF=EIIA T ALAE (4|
20,000& = 10 * 52 * 63 6,000
M ZAL A Al 15,085 11,247 3,838
201 24l 5,400 4,200 1,200
01 At 2t 2l 5,400 4,200 1,200
OXEANMSHETAL HAL Ol
4,800 * 1,000 4,800
OXLN HAGAHE A M &
200,000& = 3Hg Q! 600
202 O4dl 9,685 7,047 2,638
01 L4 01 bl 9,685 7,047 2,638
OE=x . 2HAME &2 L HMSEZA O] 9,685
(OF 5 75,8008 * 3H * 52 « 53 5,685
O2U 20,000& = 4H * 53| = 10 4,000
st=XEAARE A 57,224 56,238 986
306 3 57,224 56,238 986
01 &3 57,224 56,238 986
OBBXLHAPH Sof
381,493,173,000& * 0.015% 57,224
M2l 22 66,000 88,290 A22,290
Nel+=g 288 29 2 2l 66,000 88,290 A 22,290
201 £B-2%H| 63,440 86,652 N23,212
01 At 22l 32,940 37,152 A4, 212
OML2=DXIA 24 (0CR)
66,0003 » 702t A 4,620
ONEY S HE=s=2 1,200,000& = 12& 14,400
Oc¢ZIl |X2eldl 20,0008 * 4300 * 122 10,320
ONAAHM =2 300,000& = 12& 3,600
02 =224l 30,500 49,500 A 19,000
OMIA+LTFEAAEH X 22
30,500,000& * 13l 30,500
202 o4dl 2,560 1,638 922
01 2LHO! | 2,560 1,638 922
OMeI+2 U&= XN Ol
20,000& * 4H * 4 * 83 2,560
2AE 120,255 242,677 AN122,422
D DEHEN HEM=2 & = 120,255 195,097 AT4,842
201 £B-2dH| 15,610 72,088 N 56,478
01 At 22/l 15,610 72,088 N 56,478
OHA SIEE =2 1,000& * 2700K 270
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SHol: Xl AIE CER-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@i HRE2
FEEEE I Y
600,000 * 1624 * 25% 2,400
oOjRlEEE Q2HY AMHA 0=
770,000 » 12€ 9,240
OMY X H2X3 =22 (HIHEXH)
2,000& * 5001 1,000
O&X H=22F MHlA Ol (NICEAIAH!)
2,000 = 1,100 2,200
ONX H2UF =2 (HHBHE A|AH)
4009 = 1,250A 500
202 o4l 11,125 14,799 N3,674
01 2Ll 11,125 14,799 N3,674
OAZAHEHAIM HegN= Ae=x=d
20,000 = 3Y¥ * 8 « 128 5,760
oWHET HEH Az 2 MY &KX XA 5,365
o9 75,800 * 3% x 63 1,365
oLy 20,000 * 4% * 53 = 10& 4 000
301 et A= 1,280 0 1,280
09 HAIAHI BEAZ 1,280 0 1,280
O X2 S AR A HI A&
10,0009 * 2% = 42 % 48 » 42 & 1,280
303 ZAZ2 92,240 108,210 A 15,970
01 ZAZ 92,240 108,210 A 15,970
OYBHBRY AT 17,000
O2012¢ o|& &= 150,000,000& = 5/100 7,500
o201 =& 105,000,000 = 3/100 3,150
o204 =& 635,000,000& * 1/100 6,350
OANZtHEIHUADH AL AZ 75,240
OZ&EH2H 595,000,000& * 10/100 59,500
o019 0|82 287,200,000 * 5/100 14,360
o201BE s 46,000,000 = 3/100 1,380
HE A AU (HME D) 45,898 138,693 N92,795
olad 2 A Y| 6,426 5,681 745
ol | 6,426 5,681 745
101 e1214| 6,426 5,681 745
02 JIEtE 2 2= 6,426 5,681 745
OAZEE MM 2= 6,426
Ozn2R4Y
5,950 * 3Y x 30AI2 » 128 6,426
JlE&dl 39,472 133,012 A 93,540
Jl2AH| 39,472 131,812 N 92,340
201 et 9| 16,912 55,090 AN 38,178




M IEFMHA M3
HH: HH2IZH(ME D)

Sl Il = Al (ol @)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 At 22l 16,912 55,090 A 38,178
OJlegfs=da sl 8,344,000 8,344
OJI=ZHl (S&dl) 8,568,000 8,568
202 o4dl 18,360 68,310 A 49,950
01 = LH o4 1l 18,360 68,310 A 49,950
OJlEgl 18,360,000 18,360
203 YR =& 4,200 8,412 A4, 212
04

FA2ELHRFAHI 4,200 8,412 N4,212
O©J1=dHl 350,000& * 12 4,200




